Haryana Staff Selection Commission
Moring Session, 02.01.2018
Post :- Tehsil Welfare Officer
Which is correct ?
(1)  Social work as charity
(2)  Social work as shramdan
(3)  Social work as social welfare
(4) Social work provides scientific understanding to assist individual
T ATHEI S ?
(1) =9 % =7 F qrgriere wrd
(2) =W % &7 H qraTiER FT
(3)  &THTISTR FeATor & w7 § HTHTOTE H1
(4)  =THTRER F =R it FETar wEA o forg FeTiHe aHer JaT Far g |

National Income is equal to

(1)  National Income = Net National Product + Subsidies — Indirect Taxes

(2)  Gross National Product — Depreciation + Subsidies — Indirect Taxes

(3) National Income = Consumption + Government Expenditure + Investment + Export Minus
Import + Net factor Income from abroad — Depreciation — Indirect Taxes + Subsidies

(4)  All of these

e A e aerae g ?

(1) ST A = 5 TET ITATE + FIeHST — FTAET FT

(2) A AT IATE — ToAGTH + HloHST — TTAT FT

(3)  TTEMT AT = ITANT + T 247 + Faer + FaTq A= s + oy ¥ 93 7 T — geag™

— YT T + Fleds!
(4) AT
'Social Work and Social Welfare' who has written this book ?
(1) MeyorH.
(2) Timms
(3) Giddings

(4)  Maclver
AT T TUE AT qohY A Teaah (e fordl g 2

(1) #mT=
(2) “=

(3) ffemm
(4) #FTEAT

‘Social Work in Ancient India” who wrote this book?
(1) Majumdar R.C.

(2) Mehta B.N.

(3) GoreM.S.

(4)  Shastri R.R.

AT a7 T UATAUee TioeAT e 7g TEa ot ?
(1)  FSweET AT



(2) wEarHtTA
(3) T uHTE
(4)  9mET T

The Fiscal Policy decisions are set by

(1) The Central Government

(2)  The Central Bank

(3) Both The Central Government and The Central Bank
(4) None of these

TSR 1T o foheren g et i a8 2

(1) F=aFr

(2) HeAd®

(3) =M - Fvg TTHIT T I 9F
(4) =AH A TE

In which year social work started at Yark University ?
(1) 1966

(2) 1970

(3) 1960

(4) 1955

TTes Fareata=meaa ® e |are arertsrs w1 90F gelr ?
(1) 1966

(2) 1970

(3) 1960

(4) 1955

When was Arya Samaj established?
(1) 1875

(2) 1975

(3) 1865

(4) 1855

T TS i ST gall ?

(1) 1875

(2) 1975

(3) 1865

(4) 1855

Who has introduced PURA (Provisions of Urban Amenities in Rural Area) ?
(1)  Abdul Kalam

(2)  Pranab Mukherjee

(3) Vajpayee

(4)  Charan Singh

R PURA (SITTarST= @it o1ale TS 37 &3 TRAT) F AT ?
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11.

12.

(1) oqel hellH

(2)  ororr St

(3) =Tt

(4) = fEE

When is District Rural Development Institution established?
(1) 1980

(2) 1985

(3) 2000

(4) 2010

a RReae v Saerafive gt Tty it 1?
(2) 1980

(2) 1985
(3) 2000
(4) 2010

‘Panchayati Raj’ means ‘A democratic way’ who said.
(1)  Dr. Bipinchandra Shukla

(2)  Dr. Vidhyasagar Shukla

(3) Dr.B.R. Ambedkar

(4) O.P.Verma

"TRTAAT ST T HAAS ATHATAE TN Fhae FgT AT 2
(1) =t fEfow=Es gF

(2) =t FEEmEm e

(3) =t A e

(4) SrdY =Fwr

Which is the main objective behind the Panchayati Raj?

(1) Autocracy

(2) Power of Decentralization
(3) Happacracy

(4) Centralization of Power

TR TS o U1 7 THE 32T FTE ?
(1) uFa=

(2) e &y af<e

(3)  FewmHET

(4)  otf<F =T Fra LT

When the total product curve is falling, the

(1)  Marginal Product of Labour is Zero

(2)  Marginal Product of Labour is Negative

(3) Average Product of Labour is Increasing

(4) Average Product of Labour must be Negative
ST e ITCATE a5 [T TZT 8, T

(1) =9 T HHIT I8 AL |

(2) =% 7 HHIT IATE FUMTHF & |
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14.

15.

16.

17.

(3) =W FT AT I IZ ETZ |
(4) | FT SHHT IATE HITTHF 21 AT(Y |

Panchayati Raj is a Method.
(1)  Religion

(2)  Business

(3) Governance

(4)  Urban

wEdiaw s f&fag
(1) orEs

(2) =AU

(3) <mEA

(4) e=f

Population of Female in Gujarat is (per 1000 male)
(1) 922

(2) 819

(3) 822

(4) 919

TorTa § & it s (I 1000 T29) B 1
(1) 922

(2) 819

(3) 822

(4) 919

Literacy Rate in Gujarat is

(1) 87%

(2) 67%

(3) 68%

(4) 78%

ST | 18T a7 g
(1) 87%

(2) 67%

(3) 68%

(4) 78%

Which is the help line number of Abhayam (for women) ?

(1) 101
(2) 108
(3) 181
4) 102
Fww (AIRHATsH F forw) 1 geaarea qav g
(1) 101
(2) 108
(3) 181
(4) 102

Mother Yashoda Award for whom?
(1)  NSS Worker
(2) Aanganwadi Worker
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19.

20.

21.

(3) NSO Worker

(4) Ambawadi Worker

T T9TaT o7aTe foheh foro grar g 2
(1) U uHTE T

(2) sEaETSt T

(3) TUATEATHT

(4) SFETATST THT

When was Juvenile Justice Act passed?
(1) 1886

(2) 1968

(3) 1986

(4) 1868

e = srfarfaas s i foear a2
(1) 1886

(2) 1968

(3) 1986

(4) 1868

In which country caste system is found ?
(1) America

(2) India

(3) Japan

(4) Dubai
STTr-SraT o <91 & 9T STt 8 2
(1) s

(2) wT

(3) ST

(4) =€

‘Social work is a professional nature’, who said ?
(1) Clark Helan

(2)  Anderson

(3) Fid Lender

(4) Marx

T oo T o TTherao =< fohere sgr a2
(1) T g

(2) T=TEd

(3) HrgarsT

(4) =T

When was Scheduled Caste Development Board established ?
(1) 1985

(2) 1980

(3) 1970

(4) 1975

FF AT ST AT ate o B 7w o1 ?
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23.

24.

25.

(1) 1985

(2) 1980
(3) 1970
(4) 1975

In which year Seva Institution established?

(1) 1972
(2) 1976
(3) 1968
(4) 1980
AT GEIT Tl TITHOT 6T TS ?
(1) 1972
(2) 1976
(3) 1968
(4) 1980

The Volunteer word is coming from the voluntas. What is meaning of it ?
(1) Awants

(2) Ideal

(3) Without self

(4)  Without any wages

"FTAIT (Volunteer) 9Ts8 "ATA=aTe’ | ATAT | IHHT HAAT &

(1) ===

(2)  =aer
(3) wgEfEeT
(4) faTaESI®

‘Planning Means a Systematic Efforts’, who said
(1) Anderson

(2) Robert

(3) Shekhar

(4) Bhattacharya

AT T Aqad qeaaeda Saa’ o g7 am?

(1) wewEe
(2) =
(3) amw
(4) g

What does social work seek ?

(1) Economic well-being and happiness
(2)  Provide Health Facility

(3) Provide Money

(4)  Provide Resources

TATATIST T F4T FTgdT & ?

(1)  emfeie Fearor ofiT goft

(2) waTET AT YaT FAT |
(3) eFYRHFATE |
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27.

28.

29.

(4) EETYE YEH FEAT S |

What we call those who are working for health and family planning?
(1) Jashoda Worker

(2) Disha Worker

(3) Hira Worker

(4) Asha Worker

ST ST e A afae e F U F g € s P FEa § ?
(1)  StemeT T

(2) fRomade

(3) ErrEHe

(4) e

When was Tobacco and Cigarettes Act formed?
(1) 1993

(2) 2003

(3) 1913

(4) 2013

TETE M FoRree srfarfeae e a=maT T ?
(1) 1993

(2) 2003

(3) 1913

(4) 2013

Where is the Common-Wealth Centre located ?

(1) Canada

(2) London

(3) Africa

(4) Dubai

FIAA-IT Hva Fgl AT 8 ?
(1) =eTET

(2) ===

(3) emhrET

(4) T

Identify which is the oppressed group in the following.
(1)  Elite Group

(2)  Middle Class

(3) Tribal Community

(4)  Industrialist Group

e 5 & =T J9g &1 9q1 T
(1) faforseawt
(2) weEHa

(3)  SIESITHT HHET
(4) SR g
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31.

32.

33.

34.

For whom Priyadarshi Scheme implemented?

(1)
(2)
(3)
(4)

Weaker Women
Young Girls
Men

Literate Women

[ERERELAFREIRIE RN Ak E

(1)
(2)
(3)
(4)

.
AT ASTHAT
TET

T gigerd

For whom Swaadhar Scheme established?

(1)
(2)
(3)
(4)

Poor and Widow
Children

Youth
Unemployed

EREAELEZEI IR IEE IR C R )

(1)
(2)
(3)
(4)

T i faerad
agt

T4t
ERERIR

Marginal Utility Curve always

(1)
(2)
(3)
(4)

Slopes upward

Never slopes upward

Parallel to x-axis

Falling under normal conditions

AT ITATRAT a9 gHelT

(1) FIWHATATAZATEAEATE |

(2) FHNFWHAT AT FAZAT ATl AT 2 |
(3) x-AAFHAATALATE |

(4) AT TR § frargen gar g |

Integrated GST, collected by

(1)
(2)
(3)
(4)

The State Government
The Central Government

Both The State Government and The Central Government

None of these

wHIFT GST e g F[eId grar g ?

(1)
(2)
(3)
(4)

Tg TTFTT
Frg LHTT
TS LHTT 3T g ALRTT AT

TAH TS TN

Government imposes tax to

(1)

Check the accumulation of wealth among rich
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36.

37.

38.

(2)  Run the machinery of state

(3)  Uplift weaker sections

(4) None of these

LA F FI] AR FLAT 8 2

(1)  ST¥IT H & & 59T 6T ST L o6 (o7 |
(2) T Y FEITOTEAT T AT F o |

(3)  FHSII AT T IATT FA & T |

(4) =AHFFE AL

Element of Green Revolution in India

(1)  Continued Expansion of Farming Areas
(2)  Double-cropping in existing farmland
(3) Using seeds with improved yields

(4)  All of these

WTq | gd Fifd HT awd &

(1) = et i Aiaw e

(2)  AISET FT G H T FEA 0T |
(3) AT IUS ATA IS T ITTRT FAT |
(4) FTg«d

Five year plan started in which year ?

(1) 1951
(2) 1952
(3) 1955
(4) 1956
o |1 ¥ e AT 9 gs T ?
(1) 1951
(2) 1952
(3) 1955
(4) 1956

What are Open Market Operation?
(1)  Activities of SEBI registered brokers
(2)  Selling of currency by the RBI

(3) Selling of gilt-edged securities by the government

(4) Sale of shares by Flls

AT ATehe AT FAT S 2

(1) == OSira geret i aatatert

(2) e &t e g qaT A e

(3) T T AATAH Ffasfaar it fasht
(4) U TS TS FIRT AL A ek

Surcharge is temporary

(1) Loan
(2) Fine
(3)  Subsidy

(4) Tax
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40.

41.

42.

At sreaTet el

(1)

(2) ==

(3) Hfew=t

(4) =<

When was Free and Compulsory Education Act established for children ?
(1) 1909

(2) 2009

(3) 2014

(4) 2004

Fgi % forw gree sie srfaam forar stferfaer e wearfoa G o 2
(1) 1909

(2) 2009
(3) 2014
(4) 2004

The full form of FICCl is

(1) Federation of Indian Chambers of Commerce and Industry

(2)  Federation of International Chambers of Commerce and Industry
(3) Federation of International Chambers of Computers and Industry
(4) None of these

FICCI &T q27 ATH7 47 8 ?

(1) ST AT SOSTT AT ATE FHITE U0 TUSET

(2) TSI S TraTAA AFE ATE FHIFH TS TUSELT
(3) RS T SredHIAT AT S HEEH UUS TUSELS
(4) TAHFEE TE

Auguste Comte ‘Father of Sociology’ was
(1) German Philosopher

(2)  French Philosopher

(3) American Philosopher

(4)  Russian Philosopher

HNTER v TS % foar o

(1) ST =eeF
(2) = arefaw

(3)  erafa aretfasw
(4) o =reifasw

Sociology encourage

(1)  National Integration
(2)  Social Integration

(3) Political Integration
(4)  Economic Integration

IS T 2aT
(1)  Tgrer TR
(2) =TSR T
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44.

45.

46.

(3) Tt T
(4)  sfeie wehrReT

The concept of ‘Ideal Type’ was propounded by

(1) Max Weber

(2) Herbert Spencer
(3) W.F. Ogburn

(4) T.B.Bottomore

"IrEeT TRTT T ATLTIOT THE gTLT Traquried 7 7% ofF

(1) #Faax

(2) =TT

(3) E=EUE AT
(4) HA FEET

Who is the author of ‘Asian Drama’?
(1) Karl Marx

(2) Max Weber

(3) Gunnar Myrdal

(4) Nirad C. Chowdhury

T ST F oAE@E FIA & ?

(1) e 7T

(2) #FIET

(3) = fEETw
(4) = =ah

The heart of socialization is

(1) Myself

(2)  Yourself

(3) Himself

(4) Oneself
TATHTSITHLOT T g2 &
(1) #

(2) =™

3) =W

(4) =t

People shaking hands with each other reflect
(1)  Cultural complex

(2) Cultural trait

(3)  Cultural pattern

(4)  Cultural heritage

TN UF AL T e gu afafafed w3 §
(1)  =repfas g

(2) et R
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48.

49.

50.

(3) @TEpids e

(4) wrEFias e

Name the most serious social problem.
(1) Poverty

(2) Unemployment

(3) War

(4) Crime

Ty T AT HEEAT T ATH a4qTe |
(1)

(2) TR

B) I®

(4) =y

The position of an individual in a social structure is called

(1) Prestige

(2) Role
(3) Status
(4) Esteem

T HTHTOT ST § U i<k it fRfa &1 w7 Smar g
(1) wfEssT

(2)  feer
(3) fufa
(4) HHTA

Social work is a welfare activity based on
(1) Humanitarian Philosophy

(2)  Scientific

(3) Psychological

(4)  Economic activity

TTATHSME H1 o a2 e et aiafates g 2
(1) =TT =9

(2) a=Taw
(3) wATASIHE
(4) enfsew afafafa

Which are the main elements of social work?
(1) Worker, Service provider, Institution
(2)  Scientist, Social worker, Doctor

(3) Engineer, Businessman, Industrialist
(4)  Worker, College, Institution

TTATSM H7d & H&d a<d T 5 ?

(1)  Frdedt, §aT J&TAT, SeT

(2)  S=TeE, ATHTSR FTAFAT, STH
(3) ==, =Haam, TR
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52.

53.

54.

(4)  FTEFAT, FleoT, T

Who is the Leader of Opposition in Haryana Assembly ?
(1)  Arjun Rawat

(2) B.S.Hooda

(3) Abhay Chautala

(4)  None of these

g fEremaear & faaeft @ 1 Jar #1982

(1) oA T

(2) ftuE ger

(3) ¥ Herer
(4) =AH FEE T

States Reorganization Commission for reorganization of state boundaries was headed by

(1) Bhimsen Sacchar
(2) Fazal Ali

(3) Ramesh Chandra
(4) None of these

TISAT o TANSH o (T e TS TARTSH ST o TETeT i 472

(1) Faa=Tage

(2) S STt

(3) He=EEm

(4) = FAE T

What is the birth year of Khwaja Altaf Hussain Hali ?
(1) 1837 AD

(2) 1833 AD

(3) 1826 AD

(4)  None of these
TATSIT ST gae gTel 3T Se a4 71 572

(1) 1837%
(2) 1833%
(3) 1826%
(4) TEHI AL TE

Panchayat elections are held under whose supervision ?
(1)  District Magistrate

(2)  State Service Commission

(3) State Election Commission

(4) None of these

T AT Rt S@ Y H g @ ?
(1) S =marefter

(2)  TT=F FET AT

(3) ST AT AR

(4) =zAHFFL T
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56.

57.

58.

Rani Rampal of Haryana is associated with which game ?

(1) Hockey

(2)  Wrestling

(3) Boxing

(4) Kabaddi

AT T T AT R @ | "JEted g2
(1) =

(2) e

(3) TSI

(4)  FaE

With which of the following profession Tulika Ganguly of Faridabad, Haryana is associated ?
(1)  Playback Singing

(2)  Reality Shows

(3) Playback Singing and Reality Shows both

(4) None of these

FIETETE, FRATO it el Tt Fer § & o sra|m & a1 =7 g 87

(1)  OTed TRt

(2) Tty e

(3)  ured et quT RATterdt o Ze

(4) = A AL

Mohinder Pratap Chand is a famous poet, his poetry language is
(1)  Punjabi

(2)  English

(3) Urdu

(4)  Punjabi and English
T T == v 9E F | 5 Frer wm g

(1)  OoeT
(2) s
3) =1

(4)  OSITET ST ST

Who among the following reconstructed forts at Hansi in the 12 century ?
(1) Akbar

(2) Mohammad Ghori

(3)  Prithviraj Chauhan

(4) None of these

1277 erateat # e & & forere gieft fohet &1 Q=TT Fizamar ?
(1) =rwaT

(2) ArEFE M
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60.

61.

62.

(3) Y e
(4)  TAH HFE TH

Who was the first woman speaker of Haryana Vidhan Sabha ?
(1) Meira Kumar

(2)  Sumitra Mahajan

(3) Shanno Devi

(4) Santosh Yadav

greaTor ferem a7 £y afgar deae w12

(1) #HrrFar
(2) T wETS
(3) grr Y

(4) F=qrT TS

The Chairman of the Haryana Public Service Commission is appointed by
(1) President

(2) Governor

(3) Chief Minister

(4) None of these

AT 1o AT AT 5 S R e gTe A S 22

(1) wrgaf

(2) <TSEUTE
(3) wEEwAl
(4)  TAH HFE TH

In Haryana population density according to 2011 Census is
(1) 1002 people/ sq km

(2) 642 people/ sq km

(3) 573 people/ sq km

(4)  None of these

STRTOET 201 | 3 AT, gRATIT § STAEEdT 94T &

(1) 1002 S/t ffy

(2) 6425/t T

(3) 573 S/t ey

(4) =T & FE T

Who had written the famous book “Prithviraj Raso” ?
(1) Chand Bardai

(2)  Surdas

(3) RasKhan

(4) None of these
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64.

65.

66.

g TEae gt T e ot oft 2

(1) ==eRars
(2) H=™=
3) THE™
(4)  =HH & FE TE

Who among the following is known as ‘Haryana Hurricane’ ?
(1) Kapil Dev

(2)  Vijender Singh

(3)  Sushil Kumar

(4) None of these

g gfET FAM A RA I AT E ?
(1) ez

(2) ferfEE

(3)  Fefter FaT™

(4) =AHFFE T

Santosh Yadav, the only woman in the world, who climbed twice the Mt. Everest belongs to
which district of Haryana ?

(1) Sirsa

(2) Rewari
(3) Ambala
(4) Panipat

AT ATee faea T UFAT AigeT 8 ST 9Tse TR U AT 9% 921 2 | g g F =H 5 ¥ e wadt
&

(1) &
(2) aTEr
(3) sr¥aTET
(4) uriua

What is correct regarding the Chandigarh district?

(1) Itis a common capital of two States.

(2) Itis a Union Territory also.

(3) Itis a common capital of two states and also a Union Territory.
(4)  None of these

FERTE forel & 92 H & AT 981 872

(1) =g 3T AT T HPFT ST & |

(2) o U ET e AT R

(3) =g =T TTSAT AT HHFT TSTLTAT © AT T 6 &4 o &)

(4) =FH I FE AL

Vidhan Bhawan Building of Haryana Assembly is located in which place ?
(1) Rohtak
(2) Ambala
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68.

69.

(3) Chandigarh
(4) Gurugram
AT faream=eraT 7 faen wae f@fess fia-8 w1 92 faa 872

(1) TEaTh
(2) srETET
(3) =ErE
(4) T

Which of the following is not belongs to Faridabad district of Haryana State ?
(1)  HMT

(2)  Rubber Tyre

(3) Tractor

(4) Refrigerator

et & & Fa7 gRamoT w57 & wiierane S & o fed Tg1 52

(1) w=uEd
(2) wW@EemEe
(3) X

(4) IfheEx

In the fourth session of the Indian National Congress held in 1888 at Allahabad who of the
following national leaders represented Hisar ?

(1)  Lala Sultan Singh

(2) Baldeo Singh

(3) Lala Lajpat Rai

(4) None of these

T 1888 ¥ TATEIAIE § AT g0 AT TET HRE 6 A Areae # e T aar 7 faw %
sfafafer & =0 & 9T foram a7 2

(1) e gear g

(2) == g

(3) <ATAT AU TH

(4) =AHFEE TE

In Haryana Ambala Cantonment was established in
(1) 1843

(2) 1863

(3) 1853

(4) None of these

AT | STFATAAT e [HHve (STawT) T T g5
(1) 1843

(2) 1863

(3) 1853
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71.

72.

73.

(4) =AHFEE TE

In sports, name of Vikas Yadav is associated with
(1) Wrestling

(2)  Shot-put

(3) Boxing

(4) Pole Vault

gl % & H o 7rag &7 A e g & gafaa g ?

(1) Fedt

(2) T SE
(3)  HaeTSIT

(4) It dIoe

From which city in Haryana the Newspaper ‘Hari Bhumi’ is published ?

(1) Fatehabad

(2) Panipat
(3) Hisar
(4) Rohtak

ghmom § R qurTe TS o TR A et g
(1) wdgETR

(2) g
(3) fREm
(4) TETh

Who is current chairperson of Miss World Organisation ?
(1)  Julia Morley

(2)  Stephanie Del Valle

(3)  Priyanka Chopra

(4) Dipti Naval

A a2 NI T FAHTH FALTET i 872

(1) Sferr aret

(2) =T I FAT
(3)  forgerr U=t
(4) <fEaEw

Which city of Haryana is main Hub of Information Technology ?
(1)  Panipat

(2) Gurugram

(3) Sonipat

(4) Jind

AT T I AT TEL TAAT TRl T & & 872

(1) o



74.

75.

76.

77.

(2) T=m™
(3) @
(4) off=

Another two Post Office Passport Centre opened (along with Karnal) in March, 2017 at

(1) Hisar and Faridabad

(2) Faridabad and Panipat

(3) Kurukshetra and Yamunanagar

(4) Bhiwani and Rewari

ATH 2017 H FIATA & TATAT &I T TTE A THH TS 3 Fgl @It T2
(1) FEw @7 e

(2) wIETETE ST aIH A

(3)  FwEr &Y TATTX

(4) T &= T

The main centres of Kanphadas Cult in Haryana were
(1) Pehowa

(2)  Asthal Bohar

(3) Pehowa and Asthal Bohar both

(4) None of these

AT | A HRT TG & qeF &g o
(1) e

(2)  wEI AT

(3) TR ST STEAef e AT

(4) = A AL

Which State government is organizing AgTech Summit 2017 ?
(1) Andhra Pradesh

(2) Gujarat

(3) Tamil Nadu

(4) Kerala

FIe #1757 aeE AgTech A8 2017 AR #T I g ?
(1) sigI=e

(2) TS
(3) dafHemTE
(4) F

The gas used to extinguish fire is
(1) Hydrogen

(2) Carbon dioxide

(3) Nitrogen oxide

(4) Methane



78.

79.

80.

81.

ST ST AT T A A E 2
(1) =gregee

(2) wTEA STEAFETES
(3)  FTELISIA AtFETEE

(4) =

Where was the Civil Disobedience Movement launched in 1922 ?
(1) Bardoli

(2) Champaran

(3) Kheda

(4) Mumbai
qIAAT AT ARTAT 1922 | TRl 9% gar A7 ?
(1)  aTErEt

(2) =umer

(3) @=T

(4)  "€=E

Security Printing Press is at
(1) Nasik

(2) Rameshwaram

(3) Surat

(4) Noida
[EERECARPICA L e
(1) =

(2) A

B) =T

(4) ArF=T

While going back to home Shaggy drove towards South, then he took right and then left and

finally turned to left. Which direction did he face at the end ?
(1) North

(2) East

(3) West

(4) South

T AT ST q9 IR{T ZFeror 7 a2 =t 7247, fhe 389 2, e 38w 9T e sfee § ard |42 @, av
9q H a8 e Rem F wvgm g 2

(1)

) =

(3) =fe=sw

(4)  =feror

Complete the series :
AW, BAWX, , DCBAWXYZ
(1) DCBWXY



82.

83.

84.

(2)  CDAYXW

(3) CBAWXY

(4) BACWYZ

Sroft ot Y |

AW, BAWX, DCBAWXYZ
(1)  DCBWXY

(2)  CDAYXW

(3) CBAWXY

(4) BACWYZ

L8O5 : K7N4 : : C2F9:
Choose the same relationship.

Arrange the given animal according to increasing order of their size :

(1) B3G7

(2) BI1E8

(3) D3G7

(4) D1E8

L8O5 : K7N4 : : C2F9 :
T Fa4 FT FI9 HIo0 |
(1) B3G7

(2) BI1ES

(3) D3G7

(4) D1E8

1. Elephant

2. Cat

3. Bull

4, Tiger

5. Mosquito

(2) 54123

(2) 52431

(3) 54153

(4) 34512

331 10 et T S AT F agd i § TR
. gl

2 fereett

3 =\E

4 ar

5. o8

(1) 54123

(2) 52431

(3) 54153

(4) 34512

777 x11="7



85.

86.

87.

(1) 8547

(2) 8549
(3) 5847
(4) 8544
777 x11=?
(1) 8547
(2) 8549
(3) 5847
(4) 8544

Rohit has * 9000 in a savings account that earns 10% annually. The interest is not compounded.
How much will he have in 2 years ?

(1) 10,800

(2) 11,800

(3) T 10,500

(4) 10,000

AT F =T @ #9000 & | o 9w a1 10% AfSa g & | s9TS Fha i 781 8 | &1 9T § 39eh
T AT g ?

(1) 10,800

(2) 11,800

(3) 10,500

(4) 10,000

A and B can finish a work in 12 days, B and C can finish a work in 15 days. While C and A can
finish that work in 20 days. If A, B, C can work together, can finish in

(1) 5days
(2) 4days
(3) 10days
(4) 7days

A T B UF FTH 12 fadT § T #7d 8, B i C agr w19 15 faai § T &d ¢ | C i A 7@t | 20 fa=t
HOTFAE | AR A, B, C &1 | 1/ %2, av e {371 § gy 37 2

(1) s5f=
(2) 4fe=
(3) 10fe=
(4) 7f=

What is the largest number which divides 77, 147 and 252 to leave the same remainder in each
case ?

(1) 25
2) 15
(3) 45
4) 35

Fg T T TS HEAT FATE S /7, 147 9T 252 7 FAaniorg F#37 9 g § 7977 a9 387 g 2
(1) 25
(2) 15



88.

89.

90.

91.

92,

(3) 45
4) 35

Which one of the following is a weak acid ?
(1)  Hydrochloric acid

(2)  Aceticacid

(3)  Sulphuric acid

(4)  Nitric acid

RadaamargEaa aw=a g ?
(1) g Ui
(2) usfifes U

(3) werRE UfEe

(4) FTfew ufe

Neurons conduct the message to other neurons through
(1)  Perikaryon

(2) Cyton

(3) Dendrites

(4) Axon

ST F9T AT T AT & 9T S A I
(1) O

(2) @T=EA

(3) ==

(4) R

Relation between focal length and radius of curvature of a spherical mirror is
(1) focal length is equal to radius of curvature

(2) focal length is half of radius of curvature

(3) focal length is double of radius of curvature

(4) focal length is three times the radius of curvature

TTATRTE TYUT T IHH LT 3T aodT AT & S J99 ¢

(1) T T T AT & aET g |

(2)  RrRH LT AT AT it et 7 |

(3)  hrE| LT awar AT i g

(4) " T awar B i AT AT

Supply suitable article in the following blank if needed :

She travelled through S.T. bus.
(1) a

(2) an

(3) the

(4) noarticle

Supply suitable preposition in the following blank :
Ramesh fell asleep the lecture.

(1)  during

(2) to



93.

94.

9s.

96.

97.

98.

99.

(3) off
4) of

Give one word substitute for the following expression :

is an act of killing of one's mother.
(1) Genocide
(2)  Mortuary
(3) Foeticide
(4) Matricide

Select the word from the following that is most similar in meaning to the word in capital letters:

AID

(1) Deter
(2)  Resist
(3) Baffle

(4)  Support

Select the word from the following that is opposite in meaning to the word in capital letters:

BALK

(1) Defeat

(2) Mar

(3) Accept

(4) Stop

o d g ass frad-ragragi g ?
(1)  aTcwTfer®

(2) oA

(3) =fasrfae

(4)  wgaT

HT I TG gHT qEra i AF g
(1) ATH I S=AT

(2) @ EET

(3) wwrSTET

(4) EEd FHaAT
AT 1 amET e g

(1) fmxfe

(2) fwxfmwfa

(3) faFxam=fa

(4) f=#f=

‘oo o freamer o a8 arerier F forw v arsa B
(1) o=

(2) faeayg

(3) fareamaEqor

(4) fEeawa



100. 3% & 7 &7 &7 9152 Yo g ?

(1) e
(2) SrEar
(3) Ff

(4) =T




